L 5= /’f(,(rj.s'f'u/[c Serte 402
/1/‘,- Za) FCX):: 3)( - 4 /h/(gra (zl'ayugytn 2€»m '1\ /{/u//g/(//(n

RCy)= a xC@—zx)—> Pr e N
'Y

'//f(g)(-ﬁ)(i)olX' 7. f@x - 3x +-—X4)olx

0
oA
y:,,-_g-3 = ’LZ‘%—‘]O‘” (648 ~972 4 388,5- §0]) =645

3b) F(x) x(x+2) =0 > X 70 V Xp2 -2 |
]
V"//f@ +2x) dx =TT f(x “hx Hex )y = //[ 2‘+92£ +4_)1]”

Ve G (0 {CZ)+,¢C~2)+4 C_._’O T(%- ey 754?.//'

3¢) f(x) XVe-x =0 = Xe20 ¥ x=4
V=1 f&—/ 'XI)(//X—// ](1/1,,( r ) ol)(—//f(éx ~x ol x

=’7-Z‘4'—§‘- - 7; =7 (4 ~g-—— fO}) 77 ==

3d) FO)= (-1 5 +4) = 0 = Ker-A VX,

Y= IF- f(x 4)(>(+4)) olk-//f(x 7)ol - ///()( =23 +Alohly

V= 7[_--2 X+X] =M [—4——+4 [——44_4_{)

18
V=il 2=

0. Fell



